
Examination: M.A. Political Science
Section 1 - Section 1
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The Judicial Review in the Indian Constitution is based on
 Rule of law
 Procedure established by law
 Precedent and conventions
 Due process of law

Question No.2 4.00
Bookmark     

The matters on which the panchayat enjoys full authority have been listed in the Eleventh Schedule.
This schedule in all contains
 31 matters
 27 matters
 29 matters
 22 matters

Question No.3 4.00
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Who was the chairman of the commission appointed by the government of India to review the
question of Centre- State relation?
 S.C. Sarkar
 Manmohan Singh
 Swaran Singh
 R.S.Sarkaria
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The Parliament of India consists of 
 Lok Sabha and Rajya Sabha
 Lok Sabha , President and Council of Minister
 The President, the Lok Sabha and Rajya Sabha 
 Lok Sabha, Rajaya Sabha Council of Minister and President
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In case of clash between the State and Union Law on a subject in the Concurrent List:
 President of India will decide
 Both the Laws stand annulled
 The State Law prevails
 The Union Law prevails



Question No.6 4.00
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Identify the correct chronological sequence of the following:

(i) 42nd Constitution Amendment Act
(ii) A.K. Gopalan Vs. State of Madras Case
(iii) Declaration of Internal Emergency
(iv) Kesavananda Bharti Vs. State of Kerala Case
 (ii), (i), (iv), (iii)
 (iii), (iv), (ii), (i)
 (i), (ii), (iii), (iv)
 (ii), (iv), (iii), (i)
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what constitutes the mean in Aristotle’s social structure?
 Wealthy class
 Poor citizen 
 Artisan class 
 Middle class

Question No.8 4.00
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The word ‘Federation’ is used in which part of the Indian Constitution?
 Part III
 Indian Constitution does not use the term ‘Federation’
 Scheduled 3
 Article 395

Question No.9 4.00
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Robert Merton's concept of 'Political Machine' in a large city is associated with?
 Behaviouralism
 Functionalism
 Bureaucracy
 Decentralisation of Power

Question No.10 4.00
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These poultry belong to Mr. Kishen, our new neighbor
The underlined word is a ______noun.
 common
 abstract
 collective
 proper
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What is the correct sequence of the following presidents of the U.S.A.?

(i) Franklin D. Roosevelt
(ii) George Bush (Sr.)
(iii) Bill Clinton
(iv) John F. Kennedy
 (i), (iv), (ii), (iii)
 A (i), (iv), (iii), (ii)
 (iv), (i), (ii), (iii)
 (iii), (i), (iv), (ii)
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Assertion (A): Fundamental Rights are enshrined in the Constitution for the people.
Reason (R): People can move Court for violation of Fundamental Rights.

In the context of the above two statements which is correct?
 (A) is false, but (R) is true.
 (A) is true, but (R) is false.
 Both (A) and (R) are true and (R) is the correct explanation of (A).
 Both (A) and (R) are true, but (R) is not the correct explanation of (A).
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 A
 B
 C
 D

Question No.14 4.00
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In the financial sphere the Constitution makes
 An equitable distribution of finance between the Centre and States
 A distribution in favour of the Centre
 A distribution in favour of the States
 No distribution and leaves the same to be determined by the Finance Commission
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As a country, the United States is ________ that there are five time zones.
 much big
 too big
 very big
 so big

Question No.16 4.00
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When a Money Bill passed by Lok Sabha is sent to the Rajya Sabha, it must be returned to the Lok
Sabha by the Rajya Sabha within
 Fourteen Days
 Seven Days
 Fifteen Days
 One Month
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Recruitment to Civil Service in India is based on the recommendation of
 Montague-Chelmsford
 Minto-Morley
 Lord Macaulay
 Paul H. Appleby
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X is twice as good a workman as Y and together they finish a piece of work in 18 days. In how many
days will X alone finish the work? 
 26
 27
 25

 28

Question No.19 4.00
Bookmark     

Who said that "the world at every stage is both a product and a prophecy"? 
 Plato 
 Hegel
 Socrates
 Marx

Question No.20 4.00
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In India the power of Judicial Review is enjoyed by the
 Lower Court only
 Supreme Court only
 High Court only
 Supreme Court and High Courts
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The Headquarters of Economic Commission for Asia and Far East is situated at
 Kuala Lumpur 
 Bangkok 
 Jakarta
 Tokyo
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The Election Commission has no role in the election of 
 The Vice –President
 Members of Rajya Sabha
 The President
 Speaker of Lok Sabha
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Anand is heavier than Gopal.Mohan is lighter than Jagan.Pandian is heavier than Jagan but lighter
than Gopal. Who is the heaviest of all ?
 Jagan
 Anand
 Gopal
 Pandian
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Which one of the following has a close affinity to the rule of law?
 Judicial Supremacy
 Written constitution 
 limited government 
 Separation of power 

Question No.25 4.00
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The structure of administration in various Union Territories
 Has been prescribed in the Constitution
 Is determined by the Union Home Ministry

 Is determined by the President
 Is determined by Parliament
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In the field of nuclear strategy, what does MAD stand for?
 Mutually Assured Destruction
 Missiles Are Dangerous
 Mass Arms Destruction
 Manufacturing of Arms Destroyers
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Which of the following words have been added to the preamble of our constitution under the Forty-
second Amendment?
 Justice and Liberty
 Socialist and Secular
 Liberty and Fraternity
 Fraternity and Justice

Question No.28 4.00
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Study the following information carefully and answer the question below it

The Director of an MBA college has decided that six guest lectures on the topics of Motivation,
Decision Making, Quality Circle, Assessment Centre, Leadership and Group Discussion are to be
organised on each day from Monday to Sunday. 
(i) One day there will be no lecture (Saturday is not that day), just before that day Group Discussion
will be organised.
(ii) Motivation should be organised immediately after Assessment Centre.
(iii) Quality Circle should be organised on Wednesday and should not be followed by Group
Discussion
(iv) Decision Making should be organised on Friday and there should be a gap of two days between
Leadership and Group Discussion

Which of the pairs of lectures were organised on first and last day?
 Quality Circle and Motivation
 Group Discussion and Quality Circle
 Group Discussion and Decision Making
 None of these
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Choose the best synonym of the italicized word.
Reena has an insatiable love for music.
 irreconcilable
 unquenchable
 undesirable
 unchanging

Question No.30 4.00
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A common High Court for Two or more States and /or Union Territory may be established by
 The president
 The Governor of the State
 A Law by the Parliament
 Chief Justice of India
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The Constitutional Assembly was set up under the
 Government of India Act 1935
 Indian Independence Act 1947
 Government of India Act 1919
 Cabinet Mission Plan of 1946
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The main purpose for the grant of Fundamental Rights to the Indian Citizens is:
 Protection of Individual Liberty
 To establish Socialist Society
 To ensure Independence of Judiciary
 Establishment of Democratic Government

Question No.33 4.00
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In international relations, the principle that underlies the great power system
 Dominance 
 Cooperation 
 Identity
 Reciprocity 

Question No.34 4.00
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Assertion (A): There are three lists dividing legislative authority between the Union and the States in
India.

Reason (R): India has a federal system. In the context of the two statements above, which is correct?
 (A) is true, but (R) is false.
 (A) is false, but (R) is true.
 Both (A) and (R) are true, but (R) is not the correct explanation of (A).
 Both (A) and (R) are true and (R) is the correct explanation of (A).

Question No.35 4.00
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The residuary powers mean the powers:
 Vested in the President to deal with the national emergencies
 Over which both the central and state government possesses the rights to legislate
 Which have not been included in any of the three lists the union list, state list and the

concurrent list
 Over which the central government possesses the rights to legislate
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The objectives resolution which formed the basis of the preamble of the constitution was moved in the
Constituent Assembly on December 13, 1946 by
 Pt. Jawaharlal Nehru
 Dr. B.R.Ambedkar
 Dr. Rajendra Prasad
 Sardar Patel
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Montagu Chelmsford Report led to the enactment of the
 Government of India Act 1935

 Indian Council Act, 1909
 Indian Council Act, 1861
 Government of India Act, 1919
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The judges can be removed from their office before the expiry of their term on grounds of proved
misbehavior or incapacity by the:
 President on the recommendation of the two Houses of Parliament
 Chief Justice of India
 President on the recommendation of the Council of Ministers
 Two Houses of Parliament

Question No.39 4.00
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If Milk is water, water is sugar, sugar is road, road is sky and sky is track where do aeroplanes fly?
 Sugar
 Road
 Milk
 Sky

Question No.40 4.00
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The mother gripped her child's arm________ he be trampled.
 if
 lest
 if not
 unless

Question No.41 4.00
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Choose the best antonym of the italicized word. 
The task assigned to him was arduous.
 easy
 plain
 good
 absorbing

Question No.42 4.00
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Given below are two statements, one labeled as Assertion (A) and the other labeled as Reason (R). 
Assertion (A): Interest Groups complete for making their' voice heard and interests protected by the
decision makers in political systems.

Reason (R): Interest Groups extend support to political parties in a consistent manner.
 Both (A) and (R) are true but (R) is not the correct explanation of (A).
 Both (A) and (R) are true and (R) is the correct explanation of (A).
 (A) is false but (R) is true.
 (A) is true but (R) is false.



Question No.43 4.00
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The most essential principle of liberalism is:
 Equality
 Freedom
 Social justice
 Democracy

Question No.44 4.00
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Plato appropriated the ideas of 
 Parmenides 
 Heraclitus 
 Socrates 
 All of these

Question No.45 4.00
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The President
 Can dismiss a Minister at his discretion
 Can dismiss a Minister on the advice of the Prime Minister
 Can dismiss a Minister on the advice of the Chief Justice of India
 Cannot dismiss a Minister

Question No.46 4.00
Bookmark     

Identify the correct chronological sequence in which the following became Prime Ministers India:

(i) Charan Singh
(ii) V. P. Singh
(iii) Lai Bahadur Shastri
(iv) Morarji Desai
 (iii), (iv), (i), (ii)
 (ii), (iv), (iii), (i)
 (ii), (i), (iv), (iii)
 (ii), (iv), (i), (iii)

Question No.47 4.00
Bookmark     

The Dalit Panther Movement was launched in
 Maharashtra
 Odisha
 West Bengal
 Bihar



Question No.48 4.00
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After a Bill has been passed by the Parliament and sent to the President for his consideration
 He can refuse to sign it
 He has to sign it
 He can change certain clauses of the bill
 He can send it back for reconsideration

Question No.49 4.00
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The Contingency Fund in India has been placed at the disposal of
 Home Minister
 Prime Minister 
 President
 Finance Minister

Question No.50 4.00
Bookmark     

Due to _________, the subways were closed all morning.
 flood
 are flooded
 floods
 its flooding

Question No.51 4.00
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Given below are two statements, one labeled as Assertion (A) and the other labeled as Reason (R). 
Assertion (A): The Senate of U.S.A. is the most powerful second chamber in the world. 

Reason (R): All States in U.S.A. enjoy equal representation in the Senate.
 (A) is true but (R) is false.
 (A) is false but (R) is true.
 Both (A) and (R) are true but (R) is not the correct explanation of (A).
 Both (A) and (R) are true and (R) is the correct explanation of (A).

Question No.52 4.00
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Equal protection of law means that:
 All laws must be general in character
 All persons should be equally treated under similar circumstance
 All laws must have universal application
 All laws based on rule of law

Question No.53 4.00
Bookmark     

Identify the adverb in the following sentence:
We looked upwards and saw a bright shooting star
 bright
 looked
 upwards
 shooting



Question No.54 4.00
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The two members who are nominated to Lok Sabha by the President belong to
 Anglo –Indian Community
 Scheduled Tribes
 Scheduled Caste
 Muslim Community

Question No.55 4.00
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Which of the following statements is correct about the Vice President of India?
 Elected by the Rajya Sabha
 Elected for a four year term
 Presides over the Joint Sessions of the two Houses of Parliament
 Ex-officio Chairman of Rajya Sabha

Question No.56 4.00
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The State is a necessary evil. This statement refers to
 Neo-Liberal Theory of State
 Anarchist Theory of State
 Marxian Theory of State
 Individualist Theory of State

Question No.57 4.00
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Who said, "Men are equal by nature; society, through the institution of property, has made them
unequal"?
 Rousseau
 Locke 
 Hegel
 Marx 

Question No.58 4.00
Bookmark     

The public good ought to be the object of the Legislator. Who said it?
 Marx 
 Plato
 Bentham
 Hobbes 

Question No.59 4.00
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Choose the missing term: SHG, RIF, QJE, PKD, ? 
 NMD
 OLD
 MLB
 OLC



Question No.60 4.00
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The fundamental duties of Indian citizens are contained in:
 Part III-A of the Constitution
 Part III of the Constitution
 Part IV-A of the Constitution
 Part I of the Constitution

Question No.61 4.00
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Given below are two statements, one labeled as Assertion (A) and the other labeled as Reason (R). 
Assertion (A): Democratic socialism values unity in diversity. 
Reason (R): Cultural Pluralism hinders the functioning of democratic institutions. In the context of the
above two statements, which one of the following is correct?
 (A) is false but (R) is true.
 (A) is true but (R) is false.
 Both (A) and (R) are true and (R) is the correct explanation of (A).
 Both (A) and (R) are true but (R) is not the correct explanation of (A).

Question No.62 4.00
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The fundamental rights enshrined in the Indian constitution are:
 Absolute in nature
 Abrogate in nature
 Absolute but some are restricted
 Restricted and limited

Question No.63 4.00
Bookmark     

The First Backward Classes Commission emphasized which of the following as a condition
identifying social and educational backwardness?

 Language
 Class 
 Caste
 A Religion 

Question No.64 4.00
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In India the relations between the Union and the states are being regulated according to:
 The direction of the President
 The law passed by the parliament
 The provision of the constitution
 The well established conventions

Question No.65 4.00
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The doctrine of ‘limited sovereignty’ was propounded by
 Brezhnev 
 Khrushchev
 Andropov
 Stalin



Question No.66 4.00
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Assertion: Crude oil is abundantly found in nature

Reason: It is the main raw material for all automobiles
 A is false but R is true
 Both A and R are true and R is the correct explanation of A
 Both A and R are true and R is not the correct explanation of A
 A is true but R is false

Question No.67 4.00
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Assertion (A): The institution of Lok Pal has not been established to this day in India in spite of the
best efforts of the Government. 
Reason (R): The Political Parties in the Indian Parliament have not been able to arrive at a
consensus.
 (A) is true, but (R) is false
 (A) is false, but (R) is true.
 Both (A) and (R) are true and (R) is the correct explanation of (A)
 Both (A) and (R) are true, but (R) is not the correct explanation of (A)

Question No.68 4.00
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In which one of the following systems of Government is Bicameralism an essential feature?
 Unitary system
 Presidential system
 Federal system
 Parliamentary system

Question No.69 4.00
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The General Assembly of U.N.O. passed the Declaration of Human Rights on
 10 December, 1948
 10 December, 1949
 10 December, 1946

 10 December, 1947

Question No.70 4.00
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Who described Political Theory as “ The systematic thinking about the purpose of the Government”?
 Garner
 Berlin
 Leacock
 Plamenatz

Question No.71 4.00
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India is known as a Parliamentary democracy because
 The executive is responsible to the Parliament
 The powers have been clearly distributed between the Centre and the States
 The members of Parliament are directly elected by the people
 The President is not a member of the Parliament



Question No.72 4.00
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Balance of power is based on:
 Post Modernism
 Liberal Paradigm
 Marxist Paradigm
 Realist Paradigm

Question No.73 4.00
Bookmark     

Which one of the following writs is issued by a higher court asking the lower court to send the record
of a particular case to it on the ground that it is not competent to decide the case?
 Habeas Corpus
 Mandamus
 Quo Warranto
 Certiorari

Question No.74 4.00
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The Marxian theory of Surplus Value is largely derived from the theory of:
 Malthus
 Adam Smith
 John Stuart Mill
 Ricardo

Question No.75 4.00
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Which one of the following are considered as Rawls two principles of Justice?
 Equality and Rights
 Liberty and Equality
 Liberty and Society
 Equality and Obligation

Question No.76 4.00
Bookmark     

Correct the error in the italicized part of the sentence by choosing the most appropriate option. 
Whenever the two sisters go out for shopping, they take their pet dog with them.
 go out of shopping 

 go out to shopping
 go out on shopping
 go out shopping

Question No.77 4.00
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Which one of the following is wrong?
 The Prime Minister is the Head of the Cabinet
 The Prime Minister is the Head of the Government
 The Prime Minister is the Head of the State
 The Prime Minister is the leader of the majority party in the Lok Sabha



Question No.78 4.00
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At present the Election Commission consists of Chief Election Commissioner and
 Five other members
 Three other members
 Two other members
 Four other members
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Which Indian politician is the author of the launched book ‘Vikas ke Path’? 
 Narendra Modi
 Shivraj Singh Chauhan 
 Atal Bihari Vajpayee 
 Nitin Gadkari 
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The Governor of the state nominates to the Legislative Council
 One Fourth of its Members
 One Twelfth of its Members
 One Third of its Members
 One Sixth of its Members

Question No.81 4.00
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According to Max Weber, which one of the following types of authority is the basis of modern
bureaucracy?
 Popular
 A Traditional 
 Charismatic 
 Legal-Rational 

Question No.82 4.00
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If the Rajya Sabha does not send the money –bill back to the Lok Sabha within a period of fourteen
days
 It will be taken to have been passed by both the houses
 It will be taken to have been rejected by both houses
 The Lok Sabha will have to pass it again
 It will be again sent to the Rajya Sabha for reconsideration



Question No.83 4.00
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Study the following information carefully and answer the question below it

(i) There is a group of five persons- A, B, C, D and E
(ii) One of them is manual scavenger, one is sweeper, one is watchman, one is human scarecrow and
one is grave-digger 
(iii) Three of them – A, C and grave-digger prefer tea to coffee and two of them – B and the watchman
prefer coffee to tea
(iv) The human scarecrow and D and A are friends to one another but two of these prefer coffee to
tea.
(v) The manual scavenger is C’s brother

Which of the above statements is unnecessary? 
 (iii)
 (iv)
 Nill
 (ii)

Question No.84 4.00
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The system of diarchy was introduced in the provinces as the:
 Division of Central Legislature into two houses
 Introduction of double Government, viz, Central and State Governments
 Division of subjects delegated to the provinces into two categories
 Two sets of rulers one in London and other in Delhi

Question No.85 4.00
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One of the criticisms for the theory of Natural Rights is that it
 believes that rights are the creations of the sovereign
 puts too much emphasis on social recogni​tion of rights
 assumes that rights exist prior to society
 places societal interest over individual interests.

Question No.86 4.00
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The Entitlement Theory of Property has been propounded by
 John Rawls
 Nozick 
 Rousseau
 John Locke 

Question No.87 4.00
Bookmark     

Study the following information carefully and answer the question below it:

Aasha, Bhuvnesh,Charan, Danesh, Ekta, Farhan, Ganesh and Himesh are sitting around a circle,
facing the centre. Aasha sits fourth to the right of Himesh while second to the left of Farhan. Charan is
not the neighbour of Farhan and Bhuvnesh. Danesh sits third to the right of Charan. Himesh never sits
next to Ganesh.

Who is to the immediate left of Aasha?
 Aasha
 Charan
 Ganesh
 Bhuvnesh
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If a no-confidence motion is adopted by the Lok Sabha, then

 The Council of Ministers resigns
 The Parliament is dissolved
 The Prime Minister resigns from office
 All of the above happens

Question No.89 4.00
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Bristle : Brush
 Art: Sculpture
 Arm : Leg
 Key: Piano
 Stage: Chairs

Question No.90 4.00
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The Preamble of our Constitution reads: India is a 
 Democratic, Sovereign, Secular, Socialist Republic
 Sovereign, Democratic, Socialist, Secular Republic
 Sovereign, Socialist, Secular, Democratic Republic
 Socialist, Democratic, Secular, Republic
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Who used first time the word 'Cold War'?
 Bernard Brouch
 Karl Duetch
 Hans J. Morgenthau
 K. Webster
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From the Constitution of Ireland we have borrowed the concept of 
 Directive Principles of State Policy
 Unitary type of Government
 Supreme Court
 Fundamental Rights

Question No.93 4.00
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In matters of ordinary legislation:
 The legislative council has been given more powers
 The legislative assembly has been given more powers
 Both the houses have no powers
 Both the houses have been given equal powers
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In the following question, the first two words (given in italics) have a definite relationship. Choose
one word out of the given four alternatives which will fill the blank space and show the same
relationship with the third word as between the first two.

Truthfulness is to Liar as Loyalty is to ………?………….
 Devotion
 Falsehood
 Traitor
 Worker
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Leviathan was written by 
 J.S. Mill
 Hegal
 Hobbes 
 None of these
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Which theory of the State is expounded in Santhi Parva?
 Divine Right Theory
 Both A and B
 Social Contract Theory
 Theory of Consent
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What is the maximum period which should not intervene between two sessions of the state
Legislature?
 Two Months
 Four Months
 One Year
 Six Months

Question No.98 4.00
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Based on the information given, answer the below question. 
1. A,B,C,D,E and F are travelling in a bus. 
2. There are two reporters, two mechanics, one photographer and one writer in the group.
3. Photographer A is married to D who is a reporter. 
4. The writer is married to B who is of the same profession as that of F. 
5. A,B,C,D are two married couples and no one in this belong to the same profession. 
6. F is the brother of C.

Which of the following is the pair of reporters?
 Cannot be determined
 AE
 DE
 DF
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A person can remain a minister without being a member of the either House of the Parliament up to a
maximum period of
 One year
 Six months
 Nine months
 Three months

Question No.100 4.00
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India adopted “Panchsheel” in the year of 
 1952
 1950
 1954
 1962


